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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

1 geafea & g F v wEr sl I Question ID : 9864493867

Status : Answered

Chosen Option : 2

Problem Figure

1 2 3
Choose the correct figure that replaces the question mark.
Problem Figure

[

1
Ans x 1. 4
v23
<32
<41

Q-2 v Fmafda BT v GHAE GUOT F @ 20 B 1 HI0T F= A gO s ) )
A 1 o g o N Question ID : 9864493623
Status : Answered

An incident ray strikes a plane mirror at an angle of 20° with the mirror. The angle .
between the incident ray and reflected ray is Chosen Option :1

ans o 1.140°
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X 2 40°
< 3.50°
#4200

Q.3 7o Tedg & w2t gt vh-gut & R ar e
How many times in a week does both the hands of the clock will coincide with each other?

Ans x 1. 84

Question ID : 9864492534
Status : Not Answered
Chosen Option : --

< 2.160
X 356
v 4 168

Q4 FGomwesks t'a:éiﬁra:‘rmr:ﬂ% forre 3iit 45 me F sy wwa & St aew
gor g1 & 30 e # s seh, afg msa B A fHTe a1g &g T faar AT
gl

Question ID : 9864492472
Status : Not Answered
Chosen Option : --

Two valves P and B can fill a sump in 37% minutes and 45 minutes respectively. Both

valves are opened. The sump will be filled in just 30 minutes, if valve B is turned off
after:

Ans 6 =TT
6 min
0 Faie
9 min
5 e
5 min
10 fFee

10 min

Q5 PrafafEd SRt & ¥ FiF @ WGy 797 ¥ et ad 22
Which of the following animals do NOT belong to the class of reptiles?

Ans HRH=G
1

- Crocodile

X2 W
Snake
AF

Toad

HeHT
Xa 2
Turtle

v &)

Question ID : 9864493515
Status : Answered
Chosen Option : 3

Q.6 i el awg 1 477 W& URIEE 97 § G &1 ST § ar, SHeAr AT
Fall AT INHF AT Fall & n AT &1 A &1 n & A e § 2

If the velocity of a body becomes two times its initial velocity, its kinetic energy becomes
n times its initial kinetic energy. What 1s the value of n?

Ans (1_ 4

X 26

x5 &
3.2

<43

Question ID : 9864493201
Status : Not Answered
Chosen Option : --

Q.7
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@R e 1T fr @ AR 3cad e [ (Answer figures) # @ we #F @z
foma &) SR wEEw 2 (Problem figure) @ATfIsE e arem @y

Status : Answered
Chosen Option : 3

IEERCaC i i

Problem Figure

Answer Figures

A B C D

The below figure is embedded in one of the four answer figures. the correct figure
containing the above problem figure is:

Problem Figure

\/

Answer Figures

B C D

A

Ans x1-B
X2 A
v:D
X4 C

Q.8 &7 geamat #r sitaa 6 31 TfE gger & dwmsit & stma 5 & it dfEw A
# 8 o dint FEw Far £?

The average of three numbers is 6. The average of the first two is 5 while the average of
the last two is 8. The three numbers are:

Question ID : 9864492738
Status : Answered
Chosen Option :1

Ans X" 1.2 6,10
X 23,78
3288
X42709

O ST & @ #ia @ Fud g 22
Which of the following statements is INCORRECT?
Ans x 1.

Question ID : 9864493608
Status : Answered
Chosen Option : 4

T & FOT & a7 F g we #

The particles of matter have spaces between them.
mm&#mmaﬁrmiﬁﬁ%l

The particles of matter are extremely small.

X2
X 3.
Terelt & FUT UH EL N HHNT = ¢l

The particles of matter attract each other.
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v 2
garet & T R 39w 7 g9 £

The particles of matter are in stationary state.

Q.10

Ans

i Rw ow 3geA # wodw 97 & At A @ e Rl & aeew 1,28,
F w7 ¥ gemst g veiT R Aw, & wdet F e Gl gt =
Fo AT Frgar geme?

R+JM28#QR?+0@7F3

If each term in the given sequence is assigned number 1, 2, 3... according to their position
from the left, then the sum of the numerical values of the positions of the symbols will be

R+IM28#QR>*O@7F3
v 149
X 2 51
X< 3 44
X4 48

Question ID : 9864494022
Status : Not Answered
Chosen Option : --

QN

Ans

AL 2018 T WUHAAS AT % HEee # AT gad S #&5 #lT 2

‘Who is the Human Resource Development Minister in Prime Minister Modi’s cabinet as
of February 20187

L, Ty
Suresh Prabhu

-cot CICEC TS
Prakash Javadekar

Xs_qpmaﬂm
Jual Oram
HTeRT ITeY
Maneka Gandhi

v

F

Question ID : 9864492227
Status : Answered
Chosen Option :2

Q.12

Ans

Trafofm waea &1 suaeT e 78 foeffe =1 & R o siw o
o7 5w owg & A ¥

RB75E%M3W48Q9#B2ASMS

Using the following sequence, determine which of the given options does not belong to
the group.

RB7SE%M3IW43Qo#B2ASMS

< 1. REW
X 2.3Q2
X 3. B%4
V4 4HM

Question ID : 9864493929
Status : Answered
Chosen Option : 4

Q.13
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Status : Answered
Chosen Option : 2
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frrafofEa =t v 3 sgwa A =afa w1

A 3EEaA
B  SeldAlcH ol

C  HTpfceh ==
D faemw

Arrange the following in a proper sequence.

Mutation
Reproductive isolation
Natural selection
Evolution

Ans 1. D, C, B, A
X 2CB,AD
X3 A CDB
W 4 A B,CD

gode

Q.14 =7 & FI,
-8)[36 + {7- -2)}] = (- D19~ (-3) x (-5)} =7
Solve the following:

=8)B6 + {7- -2} + - D{19-(-3) x (-5)} =7
Ans x14
X2 4
X3-2
V2

Question ID : 9864492919
Status : Answered
Chosen Option : 3

Q.15 M T AB 1@ W W= ¥ g wea R (Problem figure) 7 guuor wfafae
grem?

Problem Figure
A
% : . E
B
Answer Figures

)

L] [ ]
A B c D
Choose the correct mirror image of the problem figure when the mirror is held at AB line:

Problem Figure
A
%: . F
B
Answer Figures

FlvAe)

[ ] [
A B c D

Ans &4 C

X2D
X3B
4 A

Question ID : 9864493688
Status : Answered
Chosen Option : 4

Q.16
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36, 72 3T 126 &1 #A.4. fFgar gem?

Status : Answered
Chosen Option : 3

What is the HCF of 36, 72 and 1267
Ans x 1.9
X< 236
V318
K412

A YT Hothe &l olld Tdold:

Aqueous solution of copper sulphate:

Question ID : 9864493169
Status : Answered
Chosen Option : 2

", ToeEwE @ weiaT T8 e §
does not affects litmus

<2
orer 3T Aol g1t foleAw i wenfag e g
affects both red and blue litmus.

3

Arer foreaT A ol T & oRafda aar e
furns blue litmus red

X4

el foleAd & ey 1 & oRafda aare

turns red litmus blue

Q.18 dey 79 A & a1 ¥ 3T 9T 79C B & @+ arell g1 ¥ U & §HT €W, T
& AR ¥, T gE & el & T 3 A % wd § T T W FE
e & it ot o o T ¥ O & e F e, e #r i siaen
TF e F AT 13.5 U H FHI W §, Sl qe A F A aw
TEae F 6 ©E WO g1 3PN few #r Ao 30 fersieier wior e @ & ofer
& afy frar freieer Wiy wer o

Peter belongs to Town A and Paul belongs to Town B. They start their journeys towards
each other’s towns following the same route at the same time. They meet somewhere on
the way and continue with their journeys. After meeting Paul, Peter takes another 13.5
hours to reach his destination while Paul takes another 6 hours to reach Peter’s town. If
Peter travelled at the speed of 30 kin/h, what was Paul’s speed in km/h?

Ans X142 5
X 2 40
V'3 45
X 4475

Question ID : 9864492930
Status : Not Answered
Chosen Option : --

Q.19 fordlr goa % 3ieT AT TH SC@T 3T &9 & SAbal F IO F7 gE?

The ratio of the areas of a square and a regular hexagon, both inscribed in a circle is?

Ans (14:3@
< 21:4/3
< 33y3: 2
K42:3

Question ID : 9864492894
Status : Answered
Chosen Option : 1

Q.20 v et o forT 1 qWH FE 5, T A WYL H gy o 3 P
#r FTEFr 5T A B uh ¥ S g 3

A man looks at a portrait and says, “She is my Father-in-law’s only grand-daughter”. How
is the girl in the portrait related to this man’s wife?

20 A
Mother

Ans

file:///C:/Users/CG/Downloads/Qp%20(3).html#
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Status : Answered
Chosen Option : 3
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ger
| Daughter
X3 ST/ ST
Niece
CEC)

Sister

W2

X4

Q.21

Ans

T 2250 & TRY W 3% TaRor aifie sare & e & 2 gut &F e e
aTeT gam?
The interest earned on ¥ 2250 at the rate of 3% simple interest per annum for 2 years will
be:

~< 1T 67.50

v 23135

~ 3.3 202.50

X 4T 225

Question ID : 9864492747
Status : Answered
Chosen Option : 2

Q.22 e & O FiF v T e § 5 9§ 2017 & oRa WK @

Ans

gaftsa o rae g e

‘Who among the following is an Indian gymnast who received the prestigious Padma Shri
Award in 2017 by the Government of India?

X, A g

PV Sindhu
arefr #few
Sakshi Malik
FEE Ul
Koneru Hampy
| G FTAH
Dipa Karmakar

< 2

< 3.

v

Question ID : 9864492379
Status : Answered
Chosen Option : 4

Q¥ Rr TN R A T T T IR Frm=T I

FieT @1 FUT g §

T #r 37 R 82
FT:

1. U F AT FEF 20 99 =
2. 7T F AT FHH g H 3 9 oier §

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How old is Mrinal?

Statements:

1. Mrinal’s mother is 20 years older than him.
2. Mrinal’s brother is 3 years younger than him.

r R0
foT =TT Woe T I & & T 2 kel qAIod §, Saieh 1 3fehel 9T ST
2l

Statement 2 alone is sufficient but statement 1 alone is not sufficient to answer the
question.

X2
fow 71T wom & o) & & w1 3y 2 S v wry e € afew gt
3ol TS T &

Both statements taken together are sufficient to answer the question, but neither statement
alone is sufficient.

file:///C:/Users/CG/Downloads/Qp%20(3).html#

Question ID : 9864494228
Status : Answered
Chosen Option : 2
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v &)
BT =17 T3 F7 3o} & & faw 1 38t 2 St v Frr v 7@ ¥, afiv v
& 3o & F faw sfafea e & amegear 2

Statements 1 and 2 together are not sufficient, and additional data is needed to answer the
question.

X 4
T 91T we &1 3 & & fAIC 1 3rber qdeg ¥, SAeie 2 e gAea HEr
Gl

Statement 1 alone is sufficient but statement 2 alone is not sufficient to answer the
question.

Q24 250 T 38% TP e 2 Question ID : 9864492726
38% of 250 is equal to: Status : Answered
Ans ‘, 1. 95
<2114
X376
X 4.104.5

Chosen Option : 1

Q.25 =7 o #EEH 7 3 Teer A HGUT FEAT e d FAASE A
& R & T=a frew R S &2

‘Which actress won the Kerala State Film Award for best actress in her debut film
‘Anuraga Karikkin Vellam’? Chosen Option : 3

Ans v ferer =
Rajisha Vijayan
S IEG)

| Parvathy
| Hee LA T
" Anna Reshma Rajan
T FeTa
< 4
Nimisha Sajayan

Question ID : 9864492271
Status : Answered

X2

28 el EHH & YOR & SRU 9 U Question ID : 9864493456
D 3R dP T %I Status : Answered

Chosen Option : 1
Plants bend towards light due to the diffusion of the

hormone on the other side of the shoot.

Ans | 3feraf@e 37 (abscisic acid)
abscisic acid
v SR
auxin
HIIS IR AT
 cytokinin
Frafers

4
gibberellin

X3

Q.27
Question ID : 9864494173

Status : Answered
Chosen Option : 3
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el guer #, W REa (?) ga gl = o et # R
T faeredt ¥ arafiT T T H
8,12,16,20,7
In the following series, one number is missing as shown by the question mark (?). Select
the missing number from the given options.
8,12, 16, 20,7
Ans x 29
1.
22
26
X2
26
24
Vs
24
32
x4
32
Q.28 SR fEemdr & 2017 & Teew Iu e d=fles Tae oar?
b ’ ~ ® e Question ID : 9864492300
‘Which Indian player won the Yonex US Open Badminton Tournament in 20177
X 3. FHT A
Sameer Varma

v

Status : Answered
Ans m m Chosen Option : 3
HATd SHAI0H
4,
Ajay Jayaram

QY Rr TR sk AT dF A s FsRr =& o

P & _— Question ID : 9864494052

Status : Not Answered
Chosen Option : --

15 Saadr 2017 F X & 3y #4792

S

1. X 39 s Y & 50 a9 =27 7
2.Y 39T A T 20 9§ o F

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How old was X on 15 January 20172

Statements:

1. X is 50 years older than his brother Y.
2. Y is 20 years younger than this mother.

Ans x1.

&3 T 99T T 3o} & F T e 2 A § oifeheT 3eher 1 T AdT
2l

2 alone is sufficient while 1 alone is not sufficient to answer the given question.

<2
23 71T WoT FT 3R &= & faw 1 3% 2 2=t woeT &

Both land 2 are sufficient to answer the given question.

3
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R T T ST 3l e & DT F ar 1 3t 7 & 2 wIeT &

Neither 1nor 2 is sufficient to answer the given question.

< 4
a3 a1C weet 1 3coR & F TIT em 1 wA~T § AfRe ahen 2 v AE
gl

1 alone is sufficient while 2 alone is not sufficient to answer the given question.

Q.30

Wmam—gm#a@qaﬁ-wmwﬁm#ﬁl
ST ;9T

Select the word pair that is analogous to the given word pair.

Horse : Pony

x1_mngﬂaaﬁr:n|ara=rgﬂaaﬁr

Drone : Bee
X2 feor : feo
Stag : Doe
X3 §ar . 3
Son : Daughter
. &HIST : ool (Larva)
Insect : Larva

v

Question ID : 9864494264
Status : Answered
Chosen Option : 2

Q.31

AT o A 9 Ht g7 #T B R ow gt # @ #i @ (@) 9F
gaTERme § ()1

FAT AT TF TF FE HeAd FlAT AT 9 T AT HIA gEAET F
serEE & 7 a5 & &7

Hé:taaﬁﬂga?ra:%aaaa?mmﬁ‘uﬁrwaﬁqgaaﬁﬁmﬁ
SR FRET T 39T 9= & i AR JET ¥

TF 2 WEF ¥ F AT a@w F e w9 Agea w1

Read the given question and decide which of the following argument(s) is/are strong.

Should you work hard till you make your signature into an autograph?

Argument 1: Work until you no longer have to introduce yourself.

Argument 2: Work hard to become financially secure.
) FaeT g 1 FHFTET ¢l
Only argument 1 is strong.
| el T 2 THIERITeR gl
Only argument 2 is strong.
. 3T 2 ST wsraemer £
Both arguments 1 and 2 are strong.
n 3t 2 2t wemEemer SET £

Neither argument 1 nor 2 is strong.

v
x
x

x

Question ID : 9864494244
Status : Answered
Chosen Option : 1

Q.32

file:///C:/Users/CG/Downloads/Qp%20(3).html#

Question ID : 9864494186
Status : Answered
Chosen Option : 1
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& 75 H@er H 3T R F & awa Hi

r 0[]

(a) (b) (e) (d) (e)

C J

Select the odd figure out of the following figure series.

I AT ]
Ans (1(d}
(d)
Xz-(b}
(b)
X3.(c)
()

Q.33 faw 71T Jeded’ H T A # o 3T 7€ 77 F F AT T (@) T

t T tion ID : 44
Tt FT ST T T ST (@ EcE Question 9864493985

Status : Answered

TFTET: Chosen Option : 3

ST TR AR #| $o Afyew A #)

forss:
1. FT AT ARG §
2. F& T AT §

Consider the given statements to be true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:

Most lawyers are females. Some females are mothers.

Conclusions:

1. Some mothers are females.
2. Some lawyers are mothers.

Ans » 1 3R 2 2= gERoT 8 F 2
Nether 1 nor 2 follows.

v Fael sy 1 TFEIT HLA g
) Only conclusion 1 follows.

e forsehd 2 SFewor st ¥
| Only conclusion 2 follows.

1 3R 2 At speRer S E

Both 1 and 2 follow.

x

Q.34
Question ID : 9864494056

Status : Answered
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&1 3§ WeA-3TFT (Problem Figure) &1 a8 3cal-3mpfaai (Answer Figures) & Chosen Option : 1
T T F wieafed 81 98 Io-pia Bl A §7

Problem Figure

> <

Answer Figures

el

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

><

Answer Figures

>[R[0
s g B
Xz A

XD

XaC

Q.35 7F W eqegas faem & s Tty ¢ 7 seed e e =ie @ s
fafea & &

Question ID : 9864493695
Status : Answered

T Chosen Option : 2
FHilelol TRAT I Al BT &1 w407 FEch T AlRE &

AT

1. FielsT IRAT # Bl FT 3TN FA arel OTE B TG § efza fFar
ST

2. Fhore aET # B ot orF B wie & 3T Fe Fr sl A6 8

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
Use of cell phone is strictly prohibited on the college premises.

Assumptions:
1. Students using phones on the college premises will be strictly punished.
2. No student is allowed to use a phone on college premises.

Ane x1mm§mﬂ1ﬁ%ﬂ%

Only assumption 1 is implicit

131‘!123’!#%1%?%

Both 1 and 2 are implicit
$ad IHAAT 2 fAfga &
Vs 2

Only assumption 2 is implicit

file:///C:/Users/CG/Downloads/Qp%20(3).html# 12/25
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x4.;ra’r13ﬁ'{?r€r2ﬁﬁ?r%

Neither 1 nor 2 is implicit

Q.36 5o T (Problem Figures) ==r faw 77T =r f&seat (Answer Figures) &
ot v # gieafea &1 g9 & w=a ©fF (Problem Figures) 3 I

Rt # & Rt g g8 2
Problem Figure

Question ID : 9864493747
Status : Answered

Chosen Option : 4

/]

Answer Figures

RIXBT I

XEINAIAA
A B C

The below figure is embedded in one of the four answer figures. Which of the figures
contain the below problem figure?

A

D

Problem Figure

/]

Answer Figures
o 0%
A B c
Ans x 1. B
v2C
XA
X 4D

ALA
D

W7 gfEr 19 x 23 = 437 &, @ 190 X 0.023 =?
19 x 23 = 437. Then 190 X 0.023 =?

Question ID : 9864492680
Status : Answered

Chosen Option

12

ans X 1437
v 2437
~ 3.0.0437
#< 4.0.437
.38 .
Q38 forafalf@e & 4 Fia o arg v 31fte sfffEmeier ¢: Question ID : 9864493071
The most reactive of the following metals is: SUES ST
Chosen Option :1
Ans X' 1. Al
V2 Ca
& 3 Ni
# 4 Pb
Q.39
Question ID : 9864494135
Status : Answered
Chosen Option : 4
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Ans x 1.1

Rw v 37 3w F e Faw & o ot & g o @ A e § ok
1 & Rt € e
& 7
£ 2 ?:
[0 —— poyw ) ——=  Athletics
N —— Gils [] ——= Disciplined
Boys -95%
Athletics -f&=mér
Girls -srEfeRar
Disciplined -37efenfée
According to the given Venn diagram, the number of boys who are neither athletes nor
v 210

disciplined is .
X3 7

< 411
Q.40
11 STl 2018 1 TRAR Bl 1157 2019 F ier T &G gem .
11 January 2018 is a Thursday. On which day will 11 June 2019 fall? Status : Answered
Ans hd Chosen Option : 1
. HITAAL

v &)
Tuesday

CACCIE

| Sunday
E2CIES

]

K2

X3
Wednesday

HHIT

r
Monday

Q.41
Question ID : 9864493956

Status : Not Answered
Chosen Option : --
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e 7T w9 a1 ol o | B el et F ¥ saa s
TR F ol 3= ¥ forw wEea B

50 TSt Y U FET # IO ¥ X T F FAT §?
FU :

1Y & & X ¥ 4 5 e § 3l &= @ 304 3
2.ZH B X ¥ 2 B FW g 3T A9 & 3241 &

Consider the given question and decide which of the following statements is sufficient to
answer the question.

‘What is X’s rank from the top in a class of 50 students?

Statements:
1. Y’srank is 4 ranks below that of X and 30th from the bottom.
2. Z’srank is 2 ranks above that of X and 32nd from the bottom.

Ans .,1_
Rrar T A 3 e F Re awrar 1 71 2 gueg &

Either 1 or 2 is sufficient to answer the given question.
X2
few 71T o 1 3o & F e 1 3k 2 A T §

Both 1 and 2 are sufficient to answer the given question.

< 3
2T =TT Woe & 3oo} & & T 1 3bel Jo~g §, Faie 2 3ehel I~ =aT
2l
1 alone is sufficient while 2 alone is not sufficient to answer the given question.

X 4
faT 91T wa @7 3o & & AT 2 el qAeT §, FEid 1 3Hehell 9T T
|

2 alone is sufficient while 1 alone is not sufficient to answer the given question.

Q.42 e T i S &, J e ey A AT ey 3EELOT 7 UEA F
T e teE n= b Question ID : 9864493540

Fa & FTA Fr g g
. . o . Status : Answered
When a bullet is fired from a gun, the gun moves in the opposite direction. This illustrates
Newton’s: Chosen Option :1
Ans
v atfer &1 e s

third law of motion
, T T T8 e 3R g/ s

first and second law of motion
, 71y &1 gger aE
first law of motion

, e o g v

second law of motion

x

x

x

Qi3 oo dFa # ¥ | 55 9FT & X F ruw A€ § 1731 § F@F Y
FT T gfeeT 1497 ¥ ofy ¥ St 39T 3o T #r ofEfda & o ar X

& T AC G 741 & S § 9Re § oo feee o 2 izl o sy
Chosen Option : --

Question ID : 9864494124

Students are sitting in a row in which the position of X is 17th from the left and that of Y
is 14th from the right. If they interchange their positions, X’s position becomes 7th from
the left. How many students are there in the row?

Ans X119
v'2 20
X3 21
X422
Qs ( Question ID : 9864492566 l

file:///C:/Users/CG/Downloads/Qp%20(3).html# 15/25
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TET 1000 FT T LAY 3 T H Tohgfe =0T HT g TT 1331 2T AT &, A sy iy
aifdies &2 e e

If sum of ¥ 1000 amount to T 1331 in 3 years, compounded annually. Then, find rate of
interest per annum?

Status : Answered
Chosen Option : 3

Ans x 1.15%
X 2.30%
v 3.10%
X 4 20%
Q.45 .
AT | STAEEAT | wew | AT | |newar %
A 200 150 50 -
B - 200 100 66.6
C 150 50 100 -
D 120 - 90 25
a3 91T 2T & U 9T, @I A FT FIERAT gl gl
City | Population | Literate | Illiterate | % of
literates
A 200 150 50 -
B - 200 100 66.6
C 150 50 100 -
D 120 - 20 25

Based on the given data, the percentage of literates in City A is

Ans x 1. 65
<270
v 75
< 480

Question ID : 9864494076
Status : Answered
Chosen Option : 3

Q.46 =y 1 sl F FAH F T F TG Wl @i H FEeA v w72 e

11
[

‘What is the minimum number of straight lines required to construct the following figure?

11
[

Ans 113
<211
<314
<412

Question ID : 9864493896
Status : Answered
Chosen Option :1

U T g
24 + (20-12 + 3 x 8)="7
Solve the following:

24 - (20-12 = 3 x 8)=7?
Ans «1._2
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Status : Answered
Chosen Option :1
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<23
<36
X43

Q.48 Ty avg & F=ms & Frer W gwedr Feufawr siw afaer st o = g # 2

‘What happens to the Potential and Kinetic energies of a body as it falls down from a
height?

Ans ‘,1_

Question ID : 9864493382
Status : Answered
Chosen Option :1

T TEufas = 7 & = §, 9t afas Fa 5 FS E |

Its Potential energy decreases while its Kinetic energy increases.

X2
ST AT o afas FT F FIE 9REaT A4 T § |

There is no change in its Potential or Kinetic energy.
X3
s s ks s Fraramar &

Its Potential and Kinetic energies decrease.

X oa
sudr eufas FaT 9 o &, FefF faa Far e s & 1

Its Potential energy increases while its Kinetic energy decreases.

Q49 gt TRA] H F9TEUd FUgIeAT T HEAT Thaer g7
The number of neutrons present in a nitrogen atom is

Ans x1_ 14

Question ID : 9864493490
Status : Answered
Chosen Option : 1

v27
X311
X 45

Q.50 e wer F il amer F fiug wew oh, o At F fear W g 1w
ar afear g @ 2
Kolleru Lake, located in the southern state of Andhra Pradesh, is located at the delta of
two rivers. Which are the rivers?

Question ID : 9864492134
Status : Not Answered
Chosen Option : --

Ans ot 3T P
o Krishna and Cauvery
) gerster 3R e
| Tungabhadra and Chitravathi

s TMeradr 3R AgT=er
Godavari and Mahanadi
Tigradr 3T Fwow

Godavari and Krishna

x

v 2

Q.51 & ww=at &1 qU=he 0324 139 W v HEA 1.2 §1 gAY HEAT 4 27
The product of two numbers is 0.324. One of the numbers is 1.2. What is the other

Question ID : 9864492660
Status : Answered

number?
Ans  X'1. 27 Chosen Option :1
V2027
X 3.0.027
X 427
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o foresrs S 9 e HCl 3w i aar ke g g 2

What is the action of dry HCI gas on dry litmus paper?

Question ID : 9864493467
Status : Not Answered
Chosen Option : --

Ans ?{ 1.
e Rreaw I e T § 9REfdd & SEr g
Blue litmus paper turns white.
2
e I wrer foeAw 99 HIAT TT ALl Sgedm g |
Blue or red litmus paper does not change its colour.
5 3
e feaw IR o T & qRafdd & A E
Blue litmus paper turns red.
X 4
o forewd IR #irer 1 & 9iafda gt sar g

Red litmus paper turns blue.

Q.53 fgge v=E F A F e Geafefe & & Fig @ a3 g@er B e 2

‘Which of the following instruments is used to measure electric current?

we, Raete

Question ID : 9864493525
Status : Answered
Chosen Option : 2

Rheostat

Voltmeter

3 IS
Ammeter

I PRy

Galvanometer

K2

K 4

Q.54 oiffies gur & &7 F 7S Ta T ITARY FEH WA AT FEAGAS B
T ot ag @i 8

His greatest achievement in the field of religious reform was the setting up of the Brahmo
Sabha and the Brahmo Samaj. Who is he?

Question ID : 9864492101
Status : Answered
Chosen Option : 3

Ans xmgr”. AT THES FFEEEAT
Dr. Bhimrao Ramji Ambedkar
, FarE ICEEoC Y
Swami Vivekananda
| T e BEEe
Swami Dayananda Saraswati
| T T A T
Raja Ram Mohan Roy

x

x

v

Q.55 v wafer FoT 1 wmEfea 4 faeieeer § 3R a0 & 40 §dFieT ¥ & af
AT AN 3.2 et & gl a9 == & fahden vy weem

A sound wave has a frequency of 4 kHz and a wavelength of 40 cm. The time taken by the
sound wave to travel a distance of 3.2 km is:

Question ID : 9864493284
Status : Not Answered
Chosen Option : --

Ans .
x; 0.5 ¥F3
05s
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v 20 ¥F
20s

x40 &
40s

x4_1.0ﬂ7=i1_5’
1.0s

Q.56 2018 #r yEaTa F fozersy IS Fo FWfEE F AT W F w7 A BB
forgera fomam o &2
Who took over as the new CEO of IT giant Infosys at the beginning of 20187

Ans TMH el
X ?
Raghuram Rajan
, Terermer faammr
Vishal Sikka
e o
| Rohan Murthy
o, T T
Salil Parekh

x

x

Question ID : 9864492258
Status : Answered
Chosen Option : 3

3 aes Horae @ faass w9 F Tienia S
Syngamy is defined as:
Ans x 1. T 3T & fAgea

the fission of one egg

X2
HEPITRAIEHT & W YEHIU[HT 7§ T T Hordel

the fusion of one of the sperms with the synergid
. T, 0] o FrEse
the fission of one sperm
v 32 & HT YHIUTHT H F TeF T Horde
4.
the fusion of one of the sperms with the egg

Question ID : 9864493097
Status : Answered
Chosen Option : 4

Q.58

Question ID : 9864494037
Status : Answered
Chosen Option : 1
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T U, AgT V 7 9 TFader o= #r 3
o W, 9T U & 5 freisfer afdyor #r 3% &
oET X, BT W & 3 fFatdey afyas & 3 &1
oZT Y, BT X ¥ 5 et 3cav #r 3 7
9T Z, ET X & 7 Thendrexr efdur #ir 3w B

FiT T T Trefr @ o g 27

City U is 9 km towards the east of City V.
City W is 5 km towards the south of City U.
City X is 3 km towards the west of City W.
City Y is 5 ki towards the north of City X.
City Z is 7 km towards the south of City X.

Which of the cities lie on a straight line?
v L XZY
< 2 UVW
&3 YWU
X 4 UXZ

Q.59

T FT A A M AR R F T 27 ¥ W A g AR F 9 FrwrrH
# Fi 7 Fo AR Aol TaE T F 25 5 R S F ag 7 e
el o

The initial ratio of sugar to flour in a dough was 2 : 7. To 9 kg of the dough John added
more sugar to make the sugar to flour ratio 2 : 5. How much sugar did John later add?

300 9TH
Ko
800 g

Question ID : 9864492745
Status : Not Answered
Chosen Option : --

Q.60

Ans

22 F A §:
Reciprocal of 2%
3
K1-2E
2
XZSE

Question ID : 9864492582
Status : Answered
Chosen Option : 3

Q.61
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for & Rw 1w dafda 2 & amur o ageia f g

=l
: ‘ﬂiﬂé_} i 1 ?
Ans
F ! .
-
X2

Xa o0
rF s 7z 4
.'I.”

Status : Answered
Chosen Option : 2

Q.62 3rpufy s & VAfAged 89 & A1g AN T 3 (THEAE) F ey
& w9 # fn fgea R o &2

‘Who has been appointed as the Chairman of the State Bank of India (SBI) after Arundhati
Bhattacharya retired?

Ans T FT

F !
Rana Kapoor

X2 et T

Kishor Kharat

T HAR
v &) 2

Rajnish Kumar

x4 &F. dFTAT
K Venkataraman

Question ID : 9864492224
Status : Not Answered
Chosen Option : --

08 P # T Wi @1 WAt g 8 2
‘Which of the following is NOT a radioactive element?

Ans
1 E e

Uranium
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Status : Answered
Chosen Option :1
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Q.64 Hia ¥ 9T HFRTT 12016 #F F TR T AE 37 HET T 2W oA
(a‘%raﬁwa@ﬁgaa'é‘)wgm%?

‘Which Indian actor won the Ordre des Arts et des Lettres (Order of Arts and Letters) from
the French Government in 20167

Question ID :
Status :
Chosen Option :

9864492283
Answered
2

Ans > T qreE
Nana Patekar
x 2 HAATH FeaaT
Amitabh Bachchan
X 3. Hﬂqﬂ @T
Anupam Kher

FHA gHA
Kamal Hassan

v 2

Q65 JfEr sec§ + tanf = 4 @ A secH- tanf =?
Ifsecf + tanf = 4,thensecf - tanf =7

Ans x1_1

Question ID
Status
Chosen Option

19864492978
:Answered
&3

v'2.0.25
<305
#4075

‘Which of the following metals is the most Malleable?
ans X1 Al

Question ID
Status
Chosen Option

19864493392
: Answered
1

X 2 7Zn
v 3 Na

W Rr F F T O urg T AU smEraade 22
X4 Ag

Q.67 sreyfere 3Tt WO &, Fealt o v MR R exrafeve far ar

In the Modern Periodic Table, elements are arranged in:

Ans

Question ID :
Status
Chosen Option :

9864493553

:Not Answered

<

increasing atomic mass number
v SCATY] BEAT A g

2.

increasing atomic number
K 3.
decreasing atomic mass number
TRHATU] TEAT H FHH
X 4 2

decreasing atomic number

Q.68 [
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afE FgIEx” —ax + b F T3 4§ @ i b F A FEw

1f the zeroes of the polynomial x* — ax + b are 3 and 4, then ‘a’ and ‘b’ are respectively
equal to

Ans x 14,3
X 2127
< 33,4
7,12

Question ID : 9864492535
Status : Answered
Chosen Option : 4

Q.69 igaT 1 T T U TS I 8 300 N F1 Tt H1 gag ov 38 75 1 9 g

The weight of a boy on the surface of the moon is 300 N. The weight of the same boy on
the surface of the earth will be:

Ans X 1. 300N
X 250N
v 3 1800N
X45N

Question ID : 9864493119
Status : Answered
Chosen Option : 3

Q.70 5 et F=r 5 wewEH T G TET F 379 ST 30°. 3 afE weeweT
Hi zEw & = Fr gt 4043 Hiew @ & T Fr s e §

From the top of a platform 5 m high, the angle of elevation of a tower was 30°. If the
platform was positioned 4043 m away from the tower, how tall was the tower?

Ans
X1 40 #Hrex
40 m

X 2043 AT
2043 m

§ 3043 #Hrex
3043 m

4453112'{
45 m

x

x

v

Question ID : 9864492697
Status : Not Answered
Chosen Option : --

Q.71 == et @1 Ay FEe F(9), P(15), CI(17), Ar(18) I R A & R &
deal TEfee IO FA EEr?

Atomic numbers of four elements are as follows: F(9), P(15), C1(17), Ar(18). Which of the
following two elements would be chemically similar?

Ans XTF 3T Ar
F and Ar
x , Cl AP
Cland P
X&FaﬂTF’
Fand P
v FHERCl

F and Cl

Question ID : 9864493594
Status : Not Answered
Chosen Option : --

Q.72

Question ID : 9864494143
Status : Not Answered
Chosen Option : --
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drr & = gEen # 9 3R 3Eh AR W ured @ = 3R e &
T -
#ie (NEET) & 3@ 98T & o7 3= I 3t & e f=a of oo
#r &
1. wiremeff 7 125 wew F ShEfrae, it o mEeae = oA
FOATH 50% TfEa Sedior g =Rw
2. 31.03.2018 = wimmeft g 17 a§ g+ =z
3. wiremedt Sar wem 125 F Safrew, @i o e et
T FLAT AT

gffemeft 1 : T B FT=ARE 14-05-2001 &, sux @10, SRS, @O
vd Fafaa 7 40% 3% wred B F

giftemeft 2 : ewm Fr SIFATAE 16-08-2000 §, 3H Shafaam, sifadr &
THIEET § 60% 3% 9red fe &

iz (NEET) wften foraey 37 5 o wrom &2

Read the given information and decide the appropriate course of action.
NEET examination has laid the following conditions to qualify for appearance in the
NEET Exam.

1. Candidate should pass Grade 12 with a minimum of 50% marks in Biology, Physics

and Chemistry group.

2. Candidate should have completed 17 years as on 31-03-2018.

3. Candidate should have opted for Biology, Physics and Chemistry in Grade 12.
Candidate 1: Ram’s date of birth is 14-05-2001, with 40% marks in Mathematics, Physics,
Chemistry and Biology.

Candidate 2: Sham’s date of birth is 16-08-2000, with 60% marks in Biology, Physics and
Chemistry.
‘Who is eligible to write the NEET Exam?

Ans X 1.
aframeft 1 3k 2 AT Fr 9T g
Both candidate 1 and 2 are eligible.
X2
o ot afamedt 1 Ak T & 2 Fr 9T v 2
Neither candidate 1 nor 2 is eligible.
| el qemedt 1 Y 9rar oo g
Only candidate 1 is eligible.
, e et 2 Fr arEr g 2
Only candidate 2 is eligible.

x

v

Q.73 Tfy AT 327 - ax + 6 = ax® + 2x + 2 H WS W & (TRES) AT &
dr a & UACHS AT FT grE?
If3x% - ax + 6 = ax® + 2x + 2 has only one (repeated) solution, then the positive

Question ID : 9864492796
Status : Not Answered

integral solution of a is: Chosen Option : --
Ans K 1. 4
K25
V2
K43
Q.74 T &
fer 71T Aeear # ¥ TEr TATT NS FT TIT H Question ID : 9864493714
Status : Answered
ﬁ : 7 Chosen Option : 2

Select the correct analogous pair from the given alternatives.

Bible : Quran
Ans HIEATA . HoAsd
- 2
o<
God: Man
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V2 T . I

Apple : Orange

IR IC

| ‘Worship : Place

, AT ¢ s

Temple : Pray

K3

x

Q.75 srerr fafire g wifeTor (T diwas) F E@Ss (FEd 2018 @)
i 2
Who is the CEO of the Unique Identification Authority of India (UIDAT) as of February
20187 Chosen Option : 4

Question ID : 9864492405
Status : Answered

Ajay Bhushan Pandey
52 !

Anil Dhasmana
o, TaeT SAeIRUl
Nandan Nilekani
x4 Ao Sare
Ajit Doval
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